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{{95,100,104} {90,97,101} { 97,102,110} }
{{{ 95,100,104} {90,97,101} } {{ 97,102,110} ,{ 90,95,100} } }

{95,100,104,110,112,117} +{5,10,10,10,11,11} ={ 100, 110, 114, 120, 123, 128}
{95,100,104,110,112,117,135,141} x5={ 475, 500, 520, 550, 560, 585, 675, 705}
{95,100,104,110,112,117,135,141} -5={ 90, 95, 99, 105, 107, 112, 130, 136}
{{95,14} {125,30}}+2 ={{47.5, T}, {62.5, 15}}
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k=1
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rate={ 0.137, 0.140, 0.163, 0.173, 0.183, 0.205, 0.222, 0.227}
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ag=1.414213562373095048801688724209698078569671875376948073176679737990732478462107038850387534327641602
bg=1.414213562373095048801688724209698078569671875376948073176679737990732478462107038850387534327641543
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